06936 i 2R F AR N B HEREF

7= miiEA

M

EFMAREEERMR , WHKERE,

EEE , 85,

g

MEBHER 26,
85, RS LA,

B

EFXHMEFEZERT T ENHEEE. BHRTRBEEFNAASE

IR, REMNRE,

A :

EHEZE,

L L~ =i} H i
A <2
= =L g\
! <
——
o sl XY
- ) ~= i E
T

1

_ ' i N7 1\
R
Q | \‘5}5
—'\
()

06936-2001 BARE 200 115 20 M8x30 55,5 230 800
06936-2501 BAE 250 115 20 M8x30 55,5 280 800
06936-3001 BAE 300 115 20 M8x30 55,5 330 800
06936-3501 BARE 350 115 20 M8x30 55,5 380 800
06936-4001 BAE 400 115 20 M8x30 55,5 430 800
06936-2002 Z2E 200 115 20 M8x30 55,5 230 800
06936-2502 E2E 250 115 20 M8x30 55,5 280 800
06936-3002 E2E 300 115 20 M8x30 55,5 330 800
06936-3502 2R ) 350 115 20 M8x30 55,5 380 800
06936-4002 2E 400 115 20 M8x30 55,5 430 800

© norelem www.norelem.com




06936 i 2R F AR N B HEREF

© norelem www.norelem.com



